% &t

TEAWN FMPRABEEHEGIEME OMERETSE

g2y BN - TEHE - #i5E
RE FE El
A5 E10A%5t Hm&ES 6 DA 1

HMAETHERELERERR




TEEH

TP RAEEEHIEMZEOMRETE

REE HER
\Eg{ mR 1 : 3000 REES 6 DN 2
EANPRAREZEHILEMEOMBZELSE
BASHEES19% 1
L& CER B RAE)
WEZEE P RER .

s
[}
»
ﬁﬁ%




HMTER S8

LM F S Y L=44. Om

TEEH

TP RAEEEHIEMZEOMRETE

X E 4 TEKX
R 1: 600 MNEES 6 MDA 3

A EIE®H N=2F
B.EitH N=1&
FARAI7IL %

A=9. 8m2




FHMTEmE 1/30
NESLEL
FAIT7IL MEEE  A=9. 8m2
2980
B.EIL&H
_A
g
A.EiIEYH A HiIE®D

TEEH

TP RAEEEHIEMZEOMRETE

X E 4

T mEmE

fER

&AL HE&ES

6 DA 4

TEERR 1/20

TAT7IL M

o
[T

i
o

xRE FEHEASESY (13) t=50

xR

/

BEEIE fHEM : BAEIIyYr-Fv (RC-40] t=30




TEAM FHFRAEEES LM ZOMBZETE

(X 4 7§ BER EEBILEMFT Y

fiER &t KEES 6 MDA S
(B£EX]
$=1/10 ¥ R AR s=1/10 R s=1/10 4 B BB s=1/10
A (1)
= HE| & 0 %% W " R @ T E
/\ (1) 53 H ®60x3.0t A6005CS-T5
i) A X R S=non @ E — 4 ©40x 2.0t JIS H 8602 MBIBEAL BB A KIS
3) T /N — t = 3.0t A6063S-T5 Ry rITSHB)
(4) % F ®20x 1.5t
®) T = ©40x3.0t AGOG3TE-T5 | JIS 1 8602 BRBLEEEEEE (BE)
® IS5k D408
[@)) vy J&EB P40 (rh=74) A6063S-T5
i ®) | JLFLILEEB | 040 (th=15) . _ o
5 & fl ©) | JLELILSEA | 0M0F @4/t y ) RUYZZTNRG RS
10| mx=m 40 ADC (v hIFIVE)
(| ZEFvvd ©60
(12) 2% 8 ®40/A (Hrh=100) AC4C
(13) BFXYv T ©20/H ASA
(14) E—L¥xyv T D40MH PE
(15| felEF vk W8F FILSH RIIAT L RBREE (BE)
(16) M8 x15 B, W
(7| RAFUFHREZ VARIL | M8 x55 B, CN, 2W, SW
(18) M8 x 20 B, SW B
(19) AR M8 %80 B, N, 2W, SW
(20) NATUTRIL b M8 x 25 B, SW SUS
(21) E7XEX D4x19 B
22| ABRHLEFS W6 x 6 B
(23) RTIYGEY P4x18
(24) E7AER (FR) D4x19 B GB
HKELIZEIBENRZEERL. EBEORBEZ/DIZ &
HER(E, A—h—DEETIETEESERERICMALTVLILDET S,
M| $=1/30 il = $=1/30
7000
ASEERK
2000
2000 =i A
175 11 x@150=1650 175 - i
14 14 7| @
Lo
o A i N &
= «| |
ol (o]
©
g IC g >
ol g 5 : : i
AN © y s ‘
(e») 0
B o n 3
¥s) ?r <
- &
< = S ™ | 1=
H EILFILFIE T
EILZ LR U FEIE
AY—J/84 )L ©89.1x2. 3t ZAM (K-27) M




BHibsH

A E1E& 1000
B. B 1500

1/20

7 20
@\ 2
L [ i
T S
CL\A : ik 2
,\-\ * N 3 ~
AR’ 8
\ 4R $80xt1.5 ’ ’5o
KRR 6 15 U
A E1E® ® ® =X 10& Y
P # B By | o oB
BHIEYD H=0. 65m W=1000mm ¢ 60. 5mm H 10. 000
INUEEWIC o 18-8 m3 0.313
INRUREEY R m2 5.000
HEBERA RC-40 t=10cm m2 1.250
B.Ei&H ® ® =X 10£ Y
P # B By | o oB
BHIEYD H=0. 65m W=1500mm ¢ 60. 5mm H 10. 000
INUEEWIC o 18-8 m3 0.313
INRUREEY R m2 5.000
HEBERA RC-40 t=10cm m2 1.250

TEEH

TP RAEEEHIEMZEOMRETE

HE & BER EiSH
R & HNEES 6 MDA 6
(5EX]
IR ES [V
Jite e &R S HE X
S=1/4
5 AO
RIEL4E25m N i
Sl RS 7
‘/U/# _ﬁ \ i
Iy
e
ES & Y # 2] i S _
1[4 7F 1 WE STK400 [¢60. 5xt2. 8 @EintvXslE, HAERE
|2 |14 T 1| HE STK400 [¢34xt2. 3 B A Y XHE. BARE
[3 [ZRAR)—T 2[RFLRXR  SUS430 |¢68xt1. 5
[4 [EZR2)—T& 2 [RFULR  SUS430 [¢76xt2. O
5lovyEY 1[RFULR  SUS304 [¢p12x99L




